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Answers for Lesson 7-8 EXxercises
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Answers for Lesson 7-8 Exercises (cont.)
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Answers for Lesson 7-8 Exercises (cont.)
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no solution; the left-hand side is never negative, but the right is
always negative.

3) 30.-1

y = 3Vx — 1; the graph is the graph of y = 3Vx translated
1 unit to the right.

y = -4V x + 2; the graph is the graph of y = -4Vx
translated 2 units to the left.

y = -14Vx + 1; the graph is the graph of y = -14Vx
translated 1 unit to the left.

y = ANx 2; the graph is the graph of y =4 Vx translated
2 units to the left.
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Answers for Lesson 7-8 Exercises (cont.)

35. y=8Vx — 2- 3; the graph is the graph of y = 8V'x
translated 2 units to the right and 3 units down.

36. y= 3Vx — 2+ 1; the graph is the graph of y = 3IVx

37. |
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41.

translated 2 units to the right and 1 unit up.
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Answers for Lesson 7-8 Exercises (cont.)
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D: all real numbers,
R: all real numbers D: all real numbers,
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Answers for Lesson 7-8 Exercises (cont.)
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D: all real numbers,
Dx=-5Ry=-1 R: all real numbers
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53. a. y

b. D:xz=2,Ry=-2
c. (2,-2)

. The domain is based on the x-coordinate of that point,
and the range is based on the y-coordinate.

o

VX 2

94. a.y=vx —35 -2
b.y=vx —1-5

Algebra 2 Chapter 7 4



@ Pearson Education, Inc., publishing as Pearson Prentice Hall. All rights reserved,

Answers for Lesson 7-8 Exercises (cont.)
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Algebra 2

b. Both domains are x = 2. The range of y =Vx — 2+1
isy=1 Therangeofy=-Vx — 2+ 1isy = 1.

y =5Vx — 4-1; the graph is the same as y =5V'x,
translated 4 units to the right and 1 down.

y =6Vx + 3+ 4; the graph is the graph of y = 6 V'x
translated 3 units to the left and 4 up.

y = -2\3/x — —I;the graph is the graph of y = 2V
translated%unit to the right.

y :%\/x — 1-2; the graph is the same as y =
translated 1 unit right and 2 down.

y=10 -%\/3 x + 3;the graph is the same asy = —
translated 3 units to the left and 10 up.

y = %\/x + 9+5; the graph is the same as y :%\/E,
translated 9 units to the left and 5 up.
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Answers may vary. Sample: y =Vx — 2 +4

a. [,
2 ’;#’
V.
Ot 2[4 6 |A
b. 20 in.
If a > 0, the graph is stretched vertically by a factor of a. If

a <0, the graph is reflected over the x-axis and stretched
vertically by a factor of |a |.
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Answers for Lesson 7-8 Exercises (cont.)
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70.

y =-V2Vx + 4;the graph is the graph of y = -\/2x translated
4 units to the left; domain: x = -4, range:y = 0.

y = -\/gxfx — Q;the graph is the graph of y = -\/8x translated %

units to the right; domain: x = %, range:y = 0.

y= V3 - VX = §S + 6; the graph is the graph of y =V3x

translated % units to the right and 6 units up; domain: x = %,

range: y = 6.
y = AV12 Jx + % 3; the graph is the graph of
y =-V12x translated % units to the left and 3 units down;

domain: x = % range: y = -3.

a. 4y
) ...,_..___..3__ =V2— x
y = V— X X
8| 6] 4[120y=\1-x

b. The graph of y = VA — xis a reflection of the graph of
y=Vx — hinthelinex=h.

for all odd positive integers
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